Pre Calculus 11   Practice Test                                                                   

Part A:  Multiple Choice

1.  Express the entire radical 
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  as a mixed radical in simpliest form
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2.  Express 
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 as a mixed radical in simpliest form
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3.  State the domain for:  
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4.  Express 
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 as an entire radical:    a.  
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5.  Simplify:  
[image: image20.wmf]245

2

28

6

180

3

63

5

+

+

-


a.  
[image: image21.wmf]5

4

7

9

-

-

           b. 
[image: image22.wmf]156

10

               c.  
[image: image23.wmf]5

4

7

27

-

     d.  
[image: image24.wmf]5

32

7

39

+


6.   Simplify:  
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7.  Simplify 
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8.  Multiply:    
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9.  Simplify:  
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10.  Simplify:  
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11.  Multiply  and Simplify   
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12.  Simplify completely:  
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13.  Simplify:  
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Part B: do all work on your own paper!

1.  Express as an entire radical :   a.  
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2.  Simplify :        a. 
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      b.  
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3.  State any restrictions on the following radical expression:   
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4.  Expand and simplify the following radical expression:        
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5.  Rationalize the denominator and completely simplify :   a.  
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6.  Solve the following equations.  State any extraneous roots.   a.  
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